
N = 109

109 circles in a 1x0.20000 rectangle

radius =   0.022301955383
ratio  =   8.967823518867

density  = 0.851593347688
contacts = 274
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N = 110

110 circles in a 1x0.20000 rectangle

radius =   0.022236615073
ratio  =   8.994174668215

density  = 0.854377728313
contacts = 242
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N = 111

111 circles in a 1x0.20000 rectangle

radius =   0.021939239930
ratio  =   9.116086092043

density  = 0.839239683208
contacts = 208
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N = 112

112 circles in a 1x0.20000 rectangle

radius =   0.021831637708
ratio  =   9.161016808358

density  = 0.838514411272
contacts = 250

 E.SPECHT
09-JUL-2010

N = 113

113 circles in a 1x0.20000 rectangle

radius =   0.021791488616
ratio  =   9.177895256326

density  = 0.842892361031
contacts = 273
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N = 114

114 circles in a 1x0.20000 rectangle

radius =   0.021495847111
ratio  =   9.304122743600

density  = 0.827434942983
contacts = 288
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N = 115

115 circles in a 1x0.20000 rectangle

radius =   0.021425201346
ratio  =   9.334801422555

density  = 0.829215747799
contacts = 298
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N = 116

116 circles in a 1x0.20000 rectangle

radius =   0.021249279743
ratio  =   9.412083723171

density  = 0.822746975001
contacts = 290
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N = 117

117 circles in a 1x0.20000 rectangle

radius =   0.021134661204
ratio  =   9.463127800581

density  = 0.820911461803
contacts = 292
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N = 118

118 circles in a 1x0.20000 rectangle

radius =   0.021084204421
ratio  =   9.485774089648

density  = 0.823979336709
contacts = 297
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N = 119

119 circles in a 1x0.20000 rectangle

radius =   0.020883659860
ratio  =   9.576865422156

density  = 0.815229826352
contacts = 302
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N = 120

120 circles in a 1x0.20000 rectangle

radius =   0.020813957283
ratio  =   9.608936795755

density  = 0.816602003094
contacts = 313
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